
Plusrechnen (bis 50 000)

Aufgabe 1

1. 15 493 + 12 589 =   

2. 19 380 + 15 692 =   

3. 23 574 + 23 538 =   

4. 23 507 + 13 626 =   

5. 23 129 + 19 281 =   

6. 7 923 + 5 861 =   

7. 24 260 + 19 865 =   

8. 18 188 + 15 577 =   

9. 24 203 + 14 246 =   

10. 13 427 + 11 686 =   

Aufgabe 2

1. 18 130 + 10 260 =   

2. 11 007 + 10 002 =   

3. 22 153 + 5 553 =   

4. 17 990 + 11 388 =   

5. 18 957 + 15 569 =   

6. 24 415 + 19 272 =   

7. 23 701 + 18 548 =   

8. 24 235 + 9 044 =   

9. 16 402 + 16 252 =   

10. 24 692 + 16 387 =   

Aufgabe 3

1. 15 867 + 14 204 =   

2. 23 343 + 5 548 =   

3. 15 804 + 9 982 =   

4. 24 582 + 7 053 =   

5. 23 293 + 7 580 =   

6. 18 900 + 17 155 =   

7. 15 890 + 10 461 =   

8. 20 485 + 11 599 =   

9. 10 663 + 6 082 =   

10. 14 155 + 11 416 =   

Aufgabe 4

1. 13 056 + 9 136 =   

2. 24 165 + 7 551 =   

3. 19 381 + 14 122 =   

4. 19 990 + 9 466 =   

5. 16 939 + 10 201 =   

6. 24 346 + 17 150 =   

7. 24 605 + 24 049 =   

8. 19 230 + 12 584 =   

9. 18 464 + 17 254 =   

10. 18 201 + 7 695 =   
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Plusrechnen (bis 50 000)
| ANTWORTEN

Aufgabe 1

1. 15 493 + 12 589 =  28 082

2. 19 380 + 15 692 =  35 072

3. 23 574 + 23 538 =  47 112

4. 23 507 + 13 626 =  37 133

5. 23 129 + 19 281 =  42 410

6. 7 923 + 5 861 =  13 784

7. 24 260 + 19 865 =  44 125

8. 18 188 + 15 577 =  33 765

9. 24 203 + 14 246 =  38 449

10. 13 427 + 11 686 =  25 113

Aufgabe 2

1. 18 130 + 10 260 =  28 390

2. 11 007 + 10 002 =  21 009

3. 22 153 + 5 553 =  27 706

4. 17 990 + 11 388 =  29 378

5. 18 957 + 15 569 =  34 526

6. 24 415 + 19 272 =  43 687

7. 23 701 + 18 548 =  42 249

8. 24 235 + 9 044 =  33 279

9. 16 402 + 16 252 =  32 654

10. 24 692 + 16 387 =  41 079

Aufgabe 3

1. 15 867 + 14 204 =  30 071

2. 23 343 + 5 548 =  28 891

3. 15 804 + 9 982 =  25 786

4. 24 582 + 7 053 =  31 635

5. 23 293 + 7 580 =  30 873

6. 18 900 + 17 155 =  36 055

7. 15 890 + 10 461 =  26 351

8. 20 485 + 11 599 =  32 084

9. 10 663 + 6 082 =  16 745

10. 14 155 + 11 416 =  25 571

Aufgabe 4

1. 13 056 + 9 136 =  22 192

2. 24 165 + 7 551 =  31 716

3. 19 381 + 14 122 =  33 503

4. 19 990 + 9 466 =  29 456

5. 16 939 + 10 201 =  27 140

6. 24 346 + 17 150 =  41 496

7. 24 605 + 24 049 =  48 654

8. 19 230 + 12 584 =  31 814

9. 18 464 + 17 254 =  35 718

10. 18 201 + 7 695 =  25 896
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